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QUESTION 1

Which two statements are correct about JSON characteristics? (Choose two)
A. JSON is a supported template language

B. JSON is easy to read for humans and devices

C. JSON uses ## for comments

D. JSON is programming language independent

Correct Answer: BD

QUESTION 2

Click the Exhibit button. Exhibit:
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»>>> response = dev.rpc.get system users infeormation(normalize=True)

»>>»>» print etree.tostring(response, pretty print=True)
<gsystem—users—information>
<uptime—information>
<date—-time seconds="1504327069">11:05aM</date-time>
<up—time seconds="6116407>7 days, 1l:54</up-time>

<active-user—count format="3 users”>3</active-user—count>

<lcad-average-1>0.41</locad-average—-1>
<lcad—average—-5>0.38</locad-average—5>
<lcad-average-15>0.40</load-average—15>
<user—table>
<user—entry>
<userrussr</ussr>
<tty>ptas/0</tty>
<from>172.292.110.83</from>

<login-time seconds="150432706%">39:10aM</login-time>

<idle—time seconda="900">15</idle—-time>
<ocommandy —cli (eli) </ commands>
</user-entry>
<usser—esntry>
<userruser</user>
<tty>pts/i</tty>
<from>172.29.110.83</from>

<login—time seconds="1504270697">10:51aM</login-time>

<idle—time seconds="10Z20%">17</idle-time>
<commandr>—cli (2li) </command>
</user-entry>
<ussr—entry>
<user>user</user>
<tty>pta/i</tty>
<from>172_.29.110.83</from>

<login—time seconds="1504029166">10:52aM</login—time>

<idle—time seconds="10Z20%">17</idle—time>
<command>—cli (cli)</command:
</user—-entry>
</ussr—-tablex
<uptime—information>

</aystem—users—information>

Referring to the exhibit, which Python statement selects the element for the user logged in on the pts/2 TTY?

A. response.find("./Juptime-information/user-table/user-entry/tty=\\'pts/2\\"")
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B. response.find("./uptime-information/user-table/[tty=\\'pts/2\\'/user-entry")
C. response.find("../user-entry/[tty=\\'pts/2\\'")
D. response.find("./uptime-information/user-table/user-entry@tty=\\'pts/2\\"")

Correct Answer: B

QUESTION 3

The XML tag is a member of which NETCONF protocol layer?

A. Transport

B. Content

C. Messages D. Operations

Correct Answer: A

The NETCONF protocol uses an RPC-based communication model. NETCONF peers use and elements to provide

transport-protocol-independent framing of NETCONF requests and responses. Reference:
https://tools.ietf.org/html/rfc6241

QUESTION 4

Which messaging protocol do JET service APIs use to interface with the Junos OS?
A. NETCONF

B. MQTT

C. RabbitMQ

D. gRPC

Correct Answer: B

Reference: https://www.juniper.net/documentation/en_US/jet1.0/information-products/pathway-pages/jetdeveloper-
guide.html

QUESTION 5

In SLAX, what is the difference between the jcs:invoke () and the jcs:execute () functions?
A. RPCs called by jcs:execute () are executed within an existing connection

B. RPCs called by jcs:invoke () are executed within an existing connection

C. RPCs called by jcs:invoke () are not executed until the conclusion of the script
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D. RPCs called by jcs:execute () are not executed until the conclusion of the script

Correct Answer: A
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